Monmouth Regional
High School

Summer Skills Packet

For students entering Algebra Honors

This packet is not optional. Selected topics will be reviewed in the first week of
class. This packet will be due on the second day of class. An assessment on all
concepts will be given within the first two weeks of class.

For students that need additional support, check out Khan Academy.

Answers are included in the back of the packet. To receive credit, each student
must show all steps taken to get the final answers.

Have a great summer and we look forward to seeing you in September!

“Successful people are not
gifted; they just work hard,
then succeed on purpose.”

- G.K. Nielson




Entering Algebra Honors Name

2023 Algebra Honors Summer Assignment Date Period

Evaluate each expression WITHOUT a calculator. All steps must be shown to receive credit.
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Solve each expression WITHOUT a calculator. All steps must be shown to receive credit.
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Answer each question and round your answer to the nearest whole number.

15) Arectangle is 2 in tall and 1 in wide. Ifit 16) The currency in South Aftrica is the Rand.
is enlarged to a height of 6 in, then how The exchange rate is approximately 7
wide will it be? Rand for $1. At this rate, how many Rand

would you get if you exchanged $3?

17) If you can buy one jar of sun-dried 18) The money used in Tajikistan is called the
tomatoes for $4, then how many can you Somoni. The exchange rate is 3 Somoni =
buy with $8? $1. Find how many Somoni you would

receive if you exchanged $5.

Write each as a decimal WITHOUT using a calculator.

19) 9% 20) 96%

21) 5% 22) 53%

Write each as a fraction WITHOUT using a calculator.

23) 70% 24) 0.7%

25) 50% 26) 308%



27) 8.25 28) 0.53

29) 1.182 30) 4.9

Write each as a percent WITHOUT using a calculator.
31) 0.61 32) 6.32

33) 5.81 34) 3.78

Solve each equation.

35) -8—-10p=p-8+2p 36) —4v+6v=10+4v
37 p+1+7-8=Tp—6p 38) 9+2n=19+n
39) —5(x — 6) =46 — 7x 40) —m+ 13 =7(m +3)

41) —4(10x +3) = 5 =50 — 7x 42) 4(5n+9) =9(9n + 4)



43) 5(2x—1) = 10(2x +9) = 2x + 7x

3 1 19 4

45) —x +—x=—— ——X
2 3 18 3
47) —§1+2=—-1~——1
3 5 10

49) 4.6(m +0.4) +0.7(m—5.9) =4.7m +5.7-5.2

Write an inequality for each graph.
50)

VA L

4 - s 2 7 ¥ % i ‘ ¥ s
~7-6-5-4-3-2-101 2 3 4 5 6 7

<

52)

.
v o

R M
-7-6-5-4-3-2-1012 3 45 6 7

Draw a graph for each inequality.

54y 6 <—v

-7 -6-5-4-3-2-101 2 3 4 5 6 7

44) —9(n+9)=—(n-3) + 4n

46) l/’c+ k—2=k+—k
2 5 2

1

48) x—§=1+2x

51) s+ it
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
53) e B T e B B s S s e e
-7 -6 -5-4-3-2-10 12 3 4 35 6 7

55) 6= -n

-7-6-5-4-3-2~-101 2 3 456 7



56) 4>m 57) b>-3

—7—6—5—4—3—2—1 0 1 2 3 4 5 6 7 —7~6~5—4—3-2—1 0 1 2 3 4 5 6 7

Solve each inequality and graph its solution.

58) 224 2r<r—r 59) —20 + 10x = 11x — 14
—iS : ~i6 : —;4 : —§2 l —iO : —‘8‘ —;2 : —iO : —=8 I —:6 I —:4 ' —:2
60) n—1+11n=19 + 10n 61) 4(6x+5)<70+14x

é é “1 ; é ':7 f:i 9 10 lll 1:2\ 3 4 5 6 :/ 8 9 10 lll 12 1|3\
62) 14x + 66 > 9x + 4(1 + 9x) 63) —3(10x — 11) < -11x — 43

A A T S A S b1 2 3 4 5 67 5 5 10
64) -3(1+2n) 5(n+6) 65) 8(13x 2) 6(12+10x)
‘22 23 24 25 26 27 28 29 30 3|1 3I2\ —5 —4 —3 —2 —l 0 ; é é :1 ;
66) 3 3(n-12

) (I’l+6)> 3(” ) 67)”“ __l>_2§+§x
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3 4

69) 8(1.97 — 6.5) + 0.87 <—22.15 — 3.9r
16 3 4 —

68)

3
>

-5 -4 -3 -2 -1 0 1 2 3 4 5

~3 -2 -1 0 1 2 3 4 5 6 7

Find the slope of each line.
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Find the slope of the line through each pair of points.
72) (-15,-9),(-18,3) 73) (-2,13), (19, 6)
Find the slope of each line.
1 5
74)y=gx+1 75) yzgx—4
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76) 6x —y = -1

Sketch the graph

78) y=—§x—4

of each line.

80) x—y=-2
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82) 2x=-5y+5 83) 3y-3=2x
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Write the slope-intercept form of the equation of each line.

84) 85)

A
Y

b
(&)

4 4
el AN

Write the slope-intercept form of the equation of each line given the slope and y-intercept.

4 lope =3, y-i t=-—1
86) Slope = ——3—, y-intercept = —3 87) Slope =3, y-intercep



Write the slope-intercept form of the equation of each line.

—x +4=
88) x+4=y 89)4x+§y:—2

Write the slope-intercept form of the equation of the line through the given points.

90) through: (—1, —5) and (—5, 0) 91) through: (0, —5) and (—3, 4)
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Answers to 2023 Algebra Honors Summer Assignment

3 13
) —— 2) —
) 2 ) 6
31 5
5) — 6) —
) 64 ) 3
2
9 L 10) 27
12 20
13) {16} 14) [g}
5
17) 2 18) 15 Somoni
21) 0.05 22) 0.53
25) 1 26) 3—2—
2 25
1
29) 19— 30) 4i
500 10
33) 581% 34) 378%
37) { All real numbers. } 38) {10}
40 (-1} 41 {1
44) -7 1
A 1) 3
1) |- g} 49) {4.65)
3
52) x=>-2 53) k<-6
55) < @ittt —
~7-6-5-4-3-2-101 2 3 4 35 6 7
57) frmmefmmfrne 2
-7 6-5-4-3-2~101 2 3 4 5 6 7
59) x<-6: &——+———>
12 -10 -8 -6 -4 -2
61) x<5: Gttt bbbt
4 6 8 10 12
63) X224 i @it >
0 2 4 6 8 10
65) xS2: _____ ‘ :
4 =2 0o 2 4
5
67) XS = ! ottt
) ¥R
69) ’ﬂ<1.5: AL _o: S
-4 2 0 2 4
72) —4 73) 7
17
76) 6 77) -2

1 3
3) — 4) —=
)2 ) 2
7) -16 8 2
10
1) {2] 12)[§}
3
15) 31in 16) 21 Rand
19) 0.09 20) 0.96
23) Z 24) T
10 1000
27) g1 28) 33
4 100
31) 61% 32) 632%
35) {0] 36) {-5]
39) (8]
42) (o} 43) 5]
46) No solution. 3
47) {3}
4
50) x<6 51) x>2-4
54) e B B A e s e L e
-7-6-5-4-3-2-10¢ 12 3 435 6 7
R10) I S
-7-6-5-4-3-2-10 123 456 7
58) 1 <11 ! oottt
-18 -16 -14 -12 -10 -8

60) n210: PR

02) X2 i@ i—t—t—t——i—t—i

||||||||

64) 127 ! it &+ —+—+——+>
2 24 26 28 30 32
66)I’Z>3Z ::::$ lllll :
0 2 4 6 8
3
68) k<—: A
8 2 0 2 4 6
2 1
70) —— 71) ——
) 5 ) 4
1 5
74) — 75) —
)5 )3
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